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“ Product

7

ConcreteProduct Factory

+ factory () : Product
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Product Factory

+ factoryMethod ()

| T

ConcreteProduct ConcreteFactory

+ factoryMethod ()

!

return new ConcreteProduct();T
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Director builder Builder
Ko—>
+ construct () + buildPart ()
//
for all objects in structure
{ .
builder.buildPart(); ConcreteBuilder Product
1 e S —— |
+ buildPart ()
+ getResult ()
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Client prototype Prototype

+ operation () + clone () : Prototype
|

|

p=prototype.clone(); 7
ConcretePrototypeA ConcretePrototypeB
+ clone () : Prototype + clone () : Prototype
e /
Tl ~_ 7
SSU 4
return copy of self; T
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Singleton

instance

- instance : Singleton

- Singleton ()
+ getinstance () : Singleton

-
-
-
-
-
-
~

if(instance==null) T

instance=new Singleton();
return instance;
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FH -5 A5 o) AR RL PR 7 95 R R AR 1 R AR S ) o B A e 5 i X 51 0 R O X 45
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1. K BA

AR 50 T R Bt — > T AR @A [ L) TR (Shape) 922 P T B2 n ] 1) @ 51 )
(Circle) JHIE (Rectangle) fil = £ JE (‘Triangle ) % 4, &34~ JLAnf BB 24 H A 2 il draw O FHEEBR
eraseO) WA J7 1k BORTE L A SCHE Y JLART DB I 4l 3 — 4> UnsupportedShapeException 53
WL SO RS

2. EHIEKE

AR S S I 37 iR

UnsupportedShapeException ~ Shape

+ draw () : void

+ UnsupportedShapeException ( T

String message)

I 1 1
ShapeFactory Circle Rectangle Triangle

+ createShape (String type) : Shape + draw () :void + draw () : void + draw () :void
[T 7 + erase () : void + erase () : void + erase () : void
Pl A A A
I 3 | \
L |
o - |
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3. LHIKE

TEA S, Shape #: 0 38 4 4 7= i » B T35 Circle, Rectangle #1 Triangle %% 35 24 B
7= il s ShapeFactory 8 T.) 28, ARSLHACHIT .

[IBARIET G =

interface Shape

{
public void draw();
public void erase();

}

[TRIE 2 - BLpd ™= i
class Circle implements Shape
{

public void draw()

{
System. out. println("Z:H| R E");
1

public void erase()
{
System. out. println(" MR EFE") ;
}
}

/IR B A
class Rectangle implements Shape

{
public void draw()
{
System. out. printIn(" 4 HI4EIE") ;
}
public void erase()
{
System. out. printIn( "M REETE") ;
1
}

/=% Bk
class Triangle implements Shape

{
public void draw()

{
System. out. println("Z: 6 =fMHE");
}

public void erase()

{
System. out. printIn("E=MAIE");



